DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
DIVISION
Time: Score: y—
1) 24136 =+ 0.4 = 256) 173.68 + 4 =
212 0.37708 + 0.04 = 1 8.73+0.01 =

243) 9.59 = 0.01 =

210 0.01277 + 0.01 =

25 85.833 +9 =

246)  —(.18318 = 0.02 =

247) 1.3188 - 0.2 =

248) —10.872 = 0.3 =

249)  —4 822 - 0.01 =

250)  —(.013476 = 0.002 =

20 50.38 + 0.1 =

252) 1021 = 0.5 =

253) —7.632 -4 =

259 —1.825 <+ 0.05 =

255) (.003214 = 0.002 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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—609 + 0.7 =

—2.6139 +0.03 =

—0.027815 = 0.005 =

—454.2 +0.05 =

56.58 + 3 =

27.528 - 0.8 =

8727 =+1=

—273.99 +3 =

—17.104 <+ 0.002 =

—69.416 + 8 =

96.04 = 0.1 =

0.02588 =+ 0.005 =

—1.167+1 =
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